Name

Solve the money problems. The line segments show where to regroup numbers. Remember to write your

answers with dollar signs and decimal points!
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$5.32
- | .94

$6.26
-2.39
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$8.66
-4.78

$7.77
-4.79

|
$7.62
-3.89

$7.83
-2.84

One box of cereal costs $3.97. The
other cost $4.98. What is the difference

in the cost?

How much would it cost to buy both
boxes of cereal?
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Name

Solve the money problems. Write the amount of cents left as the remainder.

675736 — ul§8.79 975877

3)$8.93 4)$5.49 7)$9.23

6)$9.6 | 8)$3.98 5)$4.99

4)$6.95 2)$8.67 6)$9.94

Lucy is buying oranges for the soccer Lucy is buying oranges for the soccer
team. In all, there are 9 players on the team. In all, there are 9 players on the
team. How much can she spend on each | team. How much can she spend on
orange if she has $6.377? each orange if she has $6.377?

Does she have pennies left over? _ Does she have pennies left over?
How many? __ How many? __
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Reproducible



